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COMPOUND INTEREST ASSIGNMENT 
 
1. The compound interest on Rs.800/- for two years at 5% is  

&. 800/- f;F 2 Mz;LfSf;F 5 % $l;L tl;b  
a.  `82       b.  `62   c.  `80   d.  `68  

 
2. The compound interest on Rs.10,000 for 3 years at 10% per annum is mry; 

njhif &.10>000f;F 3 tUlq;fspy; &.10 tl;b tpfpjj;jpy; fpilf;Fk; $l;L 
tl;b 
a. 3,312  b. 3,310  c. 3,300  d. 330  

 
3. Find compound interest of ì 10000 for 3 years if rate of interest is 5%, 10% and 

20% for first, second and third years respectively. 
%d;W Mz;LfSf;fhd tl;b tPjk; Kjy;> ,uz;L kw;Wk; %d;whk; Mz;Lf;F 
KiwNa 5 tpOf;fhL> 10 tpOf;fhL kw;Wk; 20 tpOf;fhL vdpy;> &gha; 
10>000f;F 3 Mz;LfSf;F $l;L tl;biaf; fz;Lgpbf;fTk;.   
a. ì 3310  b. ì 3500  c. ì 3860  d. ì 3980 

 
4. The compound interest on Rs.5,000 at 16% per annum for 1 year compound 

half-yearly is 
16% $l;L tl;bapy; &.5>000f;fhd xU tUl tl;b ($l;L tl;b 6 khjj;Jf;F 
xUKiw Nrh;f;fg;gLifapy;) 
a. Rs.832  b. Rs.382  c. Rs.283  d. Rs.823 

 
5. Find out the compound interest on Rs.1,25,000 for 9 months at 8% per annum 

compounded quarterly. 
&.1>25>000f;F Mz;Lf;F 8 rjtPjk; vd;w tl;b tPjj;jpy; 9 khj fhyj;jpw;F> 
fhyhz;Lf;F xU Kiw fzf;fpLtjd; mbg;gilapy; vt;tsT $l;L tl;b 
fpilf;Fk;? 
a. Rs.5561           b. Rs.2651           c. Rs.7651           d. Rs.5651 
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6. The time in which Rs.6250 will amount to Rs.6760 at 4 p.c. compound interest 
&.6,250 I 4 rjtPj $l;Ltl;bapy; vj;jid Mz;Lfspy;  mjd; 
nkhj;jj;njhif &.6760 Mf khWfpwJ? 
a. 2   b. 3   c. 4  d. 2 ½  
 

7. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4347. The period 
(in years) is: 
&.30>000 I 7 rjtPj $l;Ltl;bapy; vj;jid Mz;Lfspy; tl;bj;njhif &.4347 
fpilf;Fk;? 

a. 2   b. 2
1

2
    c. 3   d. 4 

 
8. At what rate of compound interest per annum will a sum of Rs.10,000 becomes 

Rs.14641 in 4 years? 
&.10>000 I xU Fwpg;gpl;l $l;Ltl;b tPjj;jpy; 4 Mz;Lfspy; mjd; 
nkhj;jj;njhif &.14641 Mf khWfpwJ vdpy; Mz;L tl;b rjtPjk; vt;tsT? 
a. 5%                   b. 10%                c. 12%                 d. 15% 

 
9. At what rate percent per annum will Rs.15,625 amount to Rs.19,683 in 3 years 

at Compound interest? 
&.15,625 njhifahdJ 3 Mz;Lfspy; Mz;Lf;F vj;jid rjtPjk; vd;w $l;L 
tl;bapy; &. 19,683 Mf khWk;? 
a. 9%                 b.   7%                 c.  8%                 d.   10% 

 
10. What is the principal amount which earns Rs.132 as compound interest for 

second year with 10% interest per annum? 
xU mry; 10% $l;L tl;bapy; ,uz;lhtJ tUl tl;bahf &.132I nfhLj;jhy; 
me;j mry; ahJ? 
a. Rs.1,200  b. Rs.1,000  c. Rs.12,000  d. Rs.1,320 

 
11. The interest on a certain principal amount at 10% per annum compounded half 

yearly for 6 months is Rs. 2,100. Find the amount invested. 
Mz;bw;F 10% tPjk; miuahz;by; $l;L tl;b fzf;fPly; %yk; Fwpg;gpl;lj; 
njhiff;F 6 khjq;fSf;Fg; ngwg;gl;l tl;bj; njhif &. 2>100 vdpy;> KjyPL 
nra;ag;gl;lj; njhifiaf; fhz;f. 
a. Rs.42000  b. Rs.21000  c. Rs.63000  d. Rs.45000 
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12. A sum of money placed at C.I. doubles itself in 5 years. It will amount to eight 

times itself at the same rate of interest in ______ years 
xU njhifia $l;L tl;bapy; KjyPL nra;jhy; 5 Mz;Lfspy; ,U 
klq;fhfpwJ. mJ vj;jid Mz;Lfspy;> mNj tl;b tPjj;jpy; vl;L klq;fhFk;? 
a. 5   b. 10   c. 15   d. 20 

 
13. A sum of money placed at compound interest doubles itself in 6 years. It will 

amount to 32 times itself at the same rate of interest in. 
$l;L tl;b mbg;gilapy; itf;fg;gl;l njhif MW Mz;Lfspy; ,uz;L 
klq;fhfpwJ.  mNj tl;b tPjj;jpy; me;jj; njhif 32 klq;F Mtjw;F 
 vj;jid Mz;Lfs; MFk;? 
a. 12 years        b. 40 years        c. 30 years          d. 45 years 

 
14. A sum of Rs.15,000 deposited at compound interest becomes double after 4 

years. After 12 years, it will become. 
&.15>000 $l;Ltl;bapy; 4 Mz;LfSf;F gpwF ,uz;L klq;F njhifahfpwJ. 
mNj njhifahdJ 12 Mz;LfSf;F gpwF vt;tsT njhifahf khWk;? 
a. Rs.250000      b. Rs. 120000      c. Rs. 140000      d. Rs. 125000 

 

15. What is the difference between the compound interests on Rs. 10,000 for 1
1

2
 

years at 4% per annum compounded yearly and half-yearly? 
&.10>000 I 4% $l;Ltl;bapy; 1½ Mz;LfSf;F Mz;L tl;b tPjj;jpYk; kw;Wk; 
miuahz;L tl;b tPjj;jpYk; fld; nfhLf;fg;gl;lhy; ,t;tpuz;L tl;bfSf;Fk; 
,ilNa cs;s tpj;jpahrk; vt;tsT? 
a. Rs. 2.04  b. Rs. 3.06  c. Rs. 4.80  d. Rs. 4.08 

 
16. If the simple interest on a sum of money at 6% per annum for 2 years is Rs.300, 

find out the compound interest on the same sum for the same period at the 
same rate? 
xU Fwpg;gpl;l njhiff;F Mz;Lf;F 6 rjtPjk; vd;w mbg;gilapy;> 2 
Mz;Lfspy; &.300 jdp tl;b fpilf;fpwJ vd;why;> mNj njhiff;F> mNj 
tl;b tPjj;jpy;> mNj fhy msTf;F $l;L tl;b vt;tsT fpilf;Fk;. 
a. 300   b. 310   c. 305   d. 309 
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17. If simple interest on a certain sum of money at 4% per annum for 2 years be 
Rs.52, what would be the interest if it were compounded annually at the same 
rate and for the same period? 
xU Fwpg;gpl;l njhiff;F Mz;Lf;F 4 rjtPjk; vd;w mbg;gilapy;> 2 
Mz;Lfspy; &.52 jdp tl;b fpilf;fpwJ vd;why;> me;jj; njhiff;F mNj 
tl;b tPjj;jpy;> mNj fhy msTf;F> Mz;Lf;F xUKiw $l;lg;gLtjhapd; 
fpilf;Fk; tl;b vt;tsT? 
a. Rs.58.20          b. Rs.54.10        c. Rs.53.04          d. Rs.60.04 

 
18. If the compound interest on a sum for 2 years at 10% per annum is Rs.105, the 

simple interest on the same sum at the same rate for the same period of time is . 
xU Fwpg;gpl;l njhiff;F 2 Mz;L fhyj;jpy;> Mz;Lf;F 10 rjtPjk; vd;w tl;b 
tPjj;jpy; &.105 $l;L tl;b fpilf;fpwJ vd;why;> mNj njhiff;F mNj tl;b 
tPjj;jpy; mNj fhy msTf;Ff; fpilf;Fk; jdp tl;b vt;tsT? 
a. Rs.100             b. Rs.200            c. Rs.150              d. Rs.400 

 
19. If the difference between the compound interest and simple interest on a 

certain sum for 2 years at 6% per annum be Rs.9, What is the sum?  
,uz;L Mz;LfSf;F 6% tl;b tpfpjj;jpy; jdptl;b> $l;L tl;b ,itfspd; 
tpj;jpahrk; &.9 vdpy;> mry; vt;tsT? 
a. 2000   b. 1500   c. 2500  d. 3500 

 
20. The difference between the simple interest and compound interest for 2 years 

at 4% per annum is Rs.25. The principal amount is 
,uz;L Mz;LfSf;F 4% tl;b tpfpjj;jpy; jdptl;b> $l;L tl;b ,itfspd; 
tpj;jpahrk; &.25 vdpy;> mry; vt;tsT? 
a. Rs.15,000  b. Rs.15,500  c. Rs.16,625  d. Rs.15,625 
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COMPOUND INTEREST ASSIGNMENT 
Answer Key  

 
1 2 3 4 5 6 7 8 9 10 

A B C A C A A B C A 

11 12 13 14 15 16 17 18 19 20 

A C C B D D C A C D 
 

 
 


